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)1 =10 =100 =1000 = 30cm




180 180 2
2 5
( )
1,2,3,4,5,6,7,8,9
10 1
10
(
i~ ] e
p—
m}\ ~ -1— 3 4‘ | ﬂ /E:

= %] S




()

1R

14

225625

&

1 (=1.8m

7

2PRE2EH

7




225625

500 5>5=25
400
400
¢ )
2 1
( 2x2 4 )
4>=<1=4
4 ¢ )
4>=4=16
¢ )
4><1=4




A e
BIGOIRE
s | {+] {17 =
e 1 T THE]
IERATE
Wy =)
”ﬁ |+ '¥J“‘m?;]

TH T T
Jmj 1 i =)
(Rl -[e L ]=[=
[T i
i RIS
] e
INEE T
W || i
T L] (Y =
1] > b




(

) )

70

70
7>=<1=7
87 (

7><8=56

10)

70

7><7=49

70
7>=<1=7
94




|
=
faemes ]

-

! II-

I

[

(11l

(

)

(

)

10)

(

)




( 11

5
( 12)
5>1=5
945 ( 13)
5
> 5=45 5>4=20
5>5=25

475
( 14




[l wﬂl"' IUH K
[ TLL N "
R a
il jil"' IUH # |
[Tl '
T i
i wﬁl"' lUlE e
e
{0 T "
TR

11)
1 1
12) (
13)
()
14)
()
475




2.1

475

4752=225625
225625






2.2

(

0)
1
1)
1
( 2)
- n
2)
3)
0
( 1) 3)

225625




((Stepl)
((StepZ)
((Step3) 1
Stepl Step2 Step3
Stepl 3

Step
2 1,2,3,4




Column.

32 316 2
[ Jae0s-1695) 1663
( )
1 =10
16 32
64 32768
B
AC =5 ,AE =CE = ﬂ
D 2
DE =5- AE =5 52
o 2
2 2
CDh = ﬂ + 5_ﬂ
2 2
A C Vv
=8xCD =3.06146745892071817384
CD 16
CD CG
D
CDE CGF

! )
CF=3.121445152258052370213




32768

n n ()
8=23 | 3.06146745892071817384
16=2¢ | 3.121445152258052370213
32=25 | 3.136548490545939349853
64=20 | 3.140331156954753
128=27 | 3.1412772509327729134016
256=28 | 3.141513801144301128448
512=2° | 3.141572940367091435162
1024=210 | 3.14158772527715976659
2048=211 | 3.141501421511186733296
4096=212 | 3.1415923455701046761471
8192=213 | 3.1415925765848605168681
16384=21¢ | 3.14159263433855298
32768=215 | 3.141592648777698869248
()  T1=3.14159265358979323846264338327
71=3.1416
0.0016 3.14
9
(D No2[  |(1608-1695)







